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[8BF] 100 manL 18 A#Ef 1060 BiEf 10.80
2HL AE#E 1045 BE#E 1056

K& FF £ BZE #i e £
1 gk 4 10.57 +1.5 9/21 PB(EE{X 2 fii &)
2 AR 4 10.61 +0.3 10/30 PB(EEfX 5 fiI)
3 ipmeEsE 1 10.72 +1.3 7/16
4 RBIE 3 10.73 +1.9 9/21
5 IWWHEX 2 10.75 —04 4/10
6 H7EF 4 10.79 +0.7 7/10 PB
7 Mtk 4 10.84 +1.8 5/3
8 HERE 4 10.94 +1.4 9/2 PB
9 AHEEX 3 10.99 +0.8 8/6
10 R"ABERE 4 11.05 +0.9 9/2
ES
1 B7EF 4 10.86 +2.5 4/16
2 AEER 4 11.15 +3.7 4/16
3 IIF=2 11PN 3 11.34 +3.5 5/3

[8BF] 200 manL 18 AiEf 2150 BiEf 21.80
£HL AE#E 2100 BiE#E 2135

K& FEF £ BZE #i e fie 5
1 nEEsasT 4 20.95 +0.6 9/3 PB-BE{X 2 {iI
2 g 0 4 21.52 +0.3 10/16
3 RBIE 3 21.53 +1.9 7/9 PB-EE{X 8 fiI
4 XBHR M2 21.77 +1.6 6/19 PB
5 H7EF 4 21.94 +0.6 4/3 PB
6 ipmeEsE 1 21.95 +0.4 8/6
7 IS 3 22.28 +1.6 6/19 PB
8 op 5 80 58 BB 1 22.31 —1.0 5/29
9 Mt 4 22.47 —13 4/3
10 MERE 3 22.55 +1.6 6/19 PB
ES
1 RBIE 3 21.72 +2.6 4/23
2 B7EF 4 21.85 +3.6 4/17
3 P22 M2 22.21 +2.5 5/1




[BF] 400m AL 18 AiEf 47.80 BiE% 4890

= | ARZ¥E  47.00 BiR%¥E 4750
K& S £ BZE #i e 1 E

1 gk 4 47.39 10/1 PB EE{X 3 fiI
2 MG 3 48.00 5/4 PB EE{X 8 fiI
3 XBHST M2 48.10 5/4 PB EE{X 9 fiI
4 HERS 4 48.91 9/2 PB

5 AMHEE 4 49.18 5/4 PB

6 HHRF 1 49.22 6/5

7 (EH=ESN 4 49.47 5/4 PB

8 RHARK 2 49.53 6/9

9 ABEA 1 49.58 7/2 PB

10 MARE 3 49.78 5/4 PB

[BF] 110mH maL 13 AEg 1460 Bi=E% 14.90

= | ARZE 14.05 BiR#¥ 1435
K& HFF £ BZE #i e 1 E
1 XHEK 4 13.94 +0.0 5/4
2 HERSE 4 14. 48 +0.0 7/9 PB
3 AI=E% 1 15.03 -0.8 5/19 PB
4 AHEEX M1 15.13 +0. 6 8/28 PB
5 =] 3 15.26 —-0.6 5/29
6 FBER 1 15. 31 +0. 8 9/17 PB
7 ARBE 3 16. 08 5/21
8 57 EH AR 3 16. 62 -2.0 5/1
9 W% 2 16.78 +0. 2 5/1
10 "RAHE 4 16. 86 +0. 3 9/3
ES K& $F | iR B #xr g £
1 HERS 4 14. 42 +2. 1 7/9
2 AR 3 15. 07 +2.2 4/30
3 AIBEA 1 15. 44 +4.8 7/3




[BF)] 400MH msL 18 A{E# 52.00 BiE# 53.00
eHL AfE# 50.80 BiE# 51.60
K& S | BB B @A =
1 HEARE 1 |52 .28 9/17
2 | AR 3 |52 61 5/21
3 |HARS 4 |53.83 10/16 PB
4 |xBE 4 |54.56 5/4
5 | IR 2 |55, 52 5/29 PB
6 | EHEL 2 |57.87 6/19 PB
BF4X100mR 2L 4080
K& 247 #s e =
1 | E-Bal-nE-%H 40’ 05 5/20 BEfE 2 fif
2 | BAn-mE-S8)-1EH 40.08 9/2 BEfE 3 i
3 | AI-Ba)I-FE-1LE 41.11 6/19
4 |EE-EB)-EH-EE 41.26 9/19
5 |iE@-S5)1-AE-1LHE 41.36 8/6
6 | AR-BBI-hH-AH 41.65 5/29
[BF] 4X400mR AL = 3.12. 50
K& el #s e =
B E — X5 — IR — /M 3.13.43 5,29 EEft 10 fif
=H-EE-NE-X5 3.14. 13 9,20
X5 —FH—EH— B 3. 15.61 6,/19
BIE—/ME—(EH - X5 3.17.33 5,21
RHE-EB-AiE—-&H 3. 22.01 9,21




[BF] 800m mAL 18 A#=# 1.53.00 BiE# 1.55.50
2L M=% 1.51.00 BiE# 1.52.30
K& s E 5 R # e %
1 % )IlpgeA 4 |156.96 4/23 PB
2 REESN 3 |15804 6/19 PB
3 [E T 2 [15875 10/22 PB
4 B2 PN 2 |15876 7/3 PB
5 FIF8A 1 15975 5/29
6 EREA 4 |201.38 5/4
7 $H A 2 120210 5/29
8 NOxE 2 |20278 11/5 PB
9 EHEA 2 |20282 5/29 #
10 O%E 2 | 20342 5/29 PB
[BF) 1500m mEsL 18 Af=s 3515 BiEf 3550
25 AE#E 3490 BiE#E 3520
K& $E | B B # A %
1 SH AW 2 | 40435 7/9 PB
2 EREA 4 | 40486 9/19
3 T1aE =] 2 | 4.07.86 4/23 PB
4 NOxE 2 | 40837 5/14 PB
5 BEXE 4 | 40851 7/9 PB
6 PR 1 | 4.09.03 9/19
7 B PN 2 | 40979 6/19
8 ABEA 1 | 41143 9/19
9 FEEE 3 | 41424 8/6 PB
10 P\ [ L 4 | 41645 6/4
[55F]) 3000m
K& $E | BER o #A %
1 BE#A 2 | 907.12 11/20




[BF]15000m maAL 188A14.12.0 B14.22.0

275 A13.55.0B14.05.0

K& S4E 25 #TA | =
1 NOxE 2 15.05.28 12/4 | PB
2 INERE a4 15.24.97 5/29
3 EEXE a4 15.32.74 9/21
a4 ABEA 1 15.33.80 12/4 | PB
5 WO#FE 2 15.33.91 12/4 | PB
6 BHAH 2 15.30.27 12/4 | PB
7 FEEA 2 15.59.26 12/4 | PB
8 EREA a4 16.04.30 9/21
9 RBIE 1 16.04.69 9/21
10 *)IlpgeA a4 16.21.71 7/23
[5BF]10000m Bl 188A29.30.0 B29.50.0
251 A28.55.0 B29.25.0

K& S4E 25 BIA | wE
1 NOxE 2 31.14.33 10/22 | PB
2 EEXE a 32.22.71 11/27
3 INELRE a 32.29.90 9/19
a4 O%KE 2 33.15.28 11/12 | 4
5 B HA 2 33.41.69 4/29 PB
6 REBIE 1 34.44.87 11/12 | 4

[BF) 3000mSC panL18 A#=f 9080 BiE#E 9.18.0
2L AfE% 8550 BiE# 9.01.0
K& $E | R B #iA =

1 NOXE 2 | 93342 8.6 #
2 INRARL 4 | 9.36.23 4.10 PB
3 RRAE 4 | 9.4293 9.20 PB
4 ABmX 1 | 953.68 9.20
5 11]af 3| 2 | 10.09.99 6.19 PB
6 SRR 3 | 10.26.15 4.10 PB




[BF] 20Km&/V\—7 BEAL 18 AE#Z 1.06. 00 BiE% 1.07.00
K& S | BB B @A =
20km
1 no xg 2 | 1.05. 37 10/15 PB
2 |BE X% 4 |1.06.12 10/15
3 |E R 4 |1.08.29 10/15
4 |EH #X 2 |1.08.39 10/15 PB
5 |EfH Bk 4 |1.09.36 10/15
6 | AH HiX 1 |1.09. 48 10/15
7 | %H A% 2 |1.10. 18 10/15
8 |hE iEi4 1 | 1.11.06 10/15
9 | BE =T 3 1.11.28 10/15
10 R BE 1 1.11. 39 10/15
[BF] 5000mW
Kg 4 | BB Wl =
HIL ER 2 21'09“50 5/29
BiE B 3 21'46“96 5/29
HE Kk 3 222877 5/29 PB
[BF] 10000MmW msL 18 AfE# 45°00°0
2HL AE% 42°00“0 BiE% 423070
K& E | BB Wl i
HIL ER 2 43'1546 9/4
BiE B 3 44'19“83 9/18
HE Kk 3 46 ‘2594 5/21
[BBF) EIEBE mrL18 A= 7m45  BiE%F 7m30
2HL A {E 7m65 BiE 7m60
K& ser e B #IA i
Al 3 7m60 +0.8 7/3 PB
2 KIBSEA 3 7m53 2.0 5/29 PB




3 W 4 7ma1 -1.0 11/13 PB
4 HARE 4 7m33 +0.5 9/2 PB
5 EEEA 1 6m92 +0.8 9/16
6 5 2 6m91 +0.3 7/2
7 TERE 1 6m89 -0.4 11/13
8 EHEE 2 6m8 1 +0.6 6/5
9 EOEE 4 6m72 X8 10/29
10 =1 113 1 6m69 +0.1 10/30
&S
1 KIBAEA 3 7m66 +3.4 9/19
[BF)] SRk  manL 188 A 15m15 B =% 14m70
2L ASE15m70  BiE#E 14m60
K& CY3 e R #iA i
1 EWEE 2 15m18 +1.9 9/17 PB
2 @Il D2 14m58 -0.4 7/3
3 SR 4 14m27 1.6 5/1 PB
4 HARE 4 13m59 +0.0 10/16 PB
5 REEH 2 13m62 +0.2 6/5 PB
&S
1 EMEES 2 15m27 +2.1 9/20
[BF) EEH mHL 13 AEE 2mos BiEgE 2mo3
2L AE% 2m14 BiE#E 2m12
K& H4E e #iIA [
1 EEEA 1 1m91 6/11 PB
2 RH—E 2 1m90 8/6
HARE 4 1m90 6/11
4 ARRE 3 1m85 4/30 PB
5 EHEHE 4 1m75 9/2
5 I AR 3 1m75 4/30
7 1Tg3 2 1m70 7/3
HRILI 1m70 6/19 PB
9 REEBA 3 1m55 11/5




[BF) Sk mrL 18 A= 5m00 BiE#E 4m60

25  A#E# 5m20 BiE#E 5m10
K& 4E 25 #iA i
1 e R —iE 3 4m70 4/24
2 HARE 4 4ma0 9/20 PB
3 L] 2 4m30 5/4
4 EAEE 4 4m20 9/3
5 EEEA 1 3m70 9/21 PB
6 ITER 2 3m60 7/3 PB
7 5 L BB 3 3m20 5/1 PB
8 RHEBS 3 2m70 11/6
[BF] ME8i%lT maL 188 A 4400 B 41.00
25 A 4800 B 47.00
K& S4F 25 B H iz
1 TAHE 3 45.40 5/21
2 RAE— 3 37.36 6/19
3 HARE 4 34.22 9/3
4 ABRRE 3 32.94 6/18
5 INE LS M1 31.36 8/6
6 ESEHE 4 30.56 9/3
7 & L A 3 28.74 5/1
8 EEEA 1 28.60 9/17
9 e[q £ 5 1 27.56 10/16
10 IIFE 2 26.92 7/3
[BF] ®WIRT mEH 18 A 6500 B 61.00
25 A 7150 B 70.00
K& C 3 e B H Wz
1 HARE 4 55.52 9/20
2 AR 1 53.39 5/29
3 RAE— 3 50.70 5/29
4 IIFE 2 50.06 5/1
5 EHEHE 4 49.12 9/3
6 EBEA 1 46.78 6/12




7 5% HH R4 3 40.11 5/1
NG L 3 34.86 11/6

[ BF 15 i&LF maL 12 A1450 B1350
£hL A1570  B15.00

K& FE £ e B

1 RERE 1 14.34 8/28 PB-BEC1 {3
2 BEABR 3 12.14 9/19 PB

3 REE— 3 12.07 5/19 PB

4 HARS 4 11.24 4/30 PB

5 W% 2 10.92 11/13 PB

6 5% R4 3 10.52 11/13 PB

7 w"ABER 4 10.09 10/29

8 ARHE 3 9.69 4/30 PB

9 ABER 1 9.57 11/13 PB

[BF Y\ ro—88F manL18 A54.00 B48.00
2L A60.00 B58.00

K& FE £ B #ir g £
1 )11 M5 1 28.58 6/19 PB
2 EEdsN 1 18.98 6/19 PB

[BBF) +IERRY: AL 18 A= 6500 Bi=% 6000

2h ARZE 6920 BiR#%¥ 6820
K& FF £ BZE #ig B

1 HE R 4 7400 9/3 PB-#KXECH
2 *iE BA 1 6628 9/17 PB
3 w"e BE 4 6446 9/3
4 T % 2 6294 7/3 PB
5 AR WE 3 6172 5/1
6 WmHE RAs 3 5892 5/1 PB
7 #28 B 3 4651 11/6




[ZzF]) 100 mnL = 12.30

£AL AE#E 1193 BiE# 1210
i $4E | R B #iA i
1 FABHNE | 3 12.21 +0.0 |6/19
2 REHZ DR 4 12.38 +00 | 6/19 PB
3 PEEHTFE | 1 12.56 —21 | 5/29 PB
4 REER 4 12.61 +0.7 | 5/1
5 SR 4 12.78 —25 | 4/2
6 =HTER 2 13.09 +16 |5/29
7 HEE 3 13.13 +16 |5/29
8 BRULTF 4 13.18 +00 |6/19 PB
9 RiRH S 2 13.47 +16 |5/29
10 | AIHEE 4 13.72 —01 | 4/2
&S
1 BEEXR 4 12.44 +2.5 5/4
2 EiEHS 2 13.41 3.2 5/3
[ZF] 200 maL &% 25. 40
25l AE# 2455 BiE# 2485
K& 6 | R mE #iIA iz
1 REBE DR 4 25.18 —11 | 5/4
2 FESEE | 3 25.27 +12 |9/20 PB
3 FIBBRE | 3 25.88 —20 |4/2
4 mE 4 26.24 —20 |4/2
5 REER 4 26.66 +01 |8/6
6 AT 3 26.73 e 6/25
7 R 3 26.88 e 4/16
8 RIEF 2 27.10 +01 | 4/2
9 BREET | 2 27.61 e 9/17
&8 | &L




[ZF] 400m BEAL 188 Af=%  57.80 B i
2L AE% 5530 BiE#¥ 56.10
K& # | R R #uA |
1 REOE | 4 56.05 6/19
2 11::[E2N 4 56.36 7/17
3 PRIl 3 56.47 6/19
4 FIWBRE |3 56.66 5/7
5 FESEE |3 57.75 9/19
6 hEENF |1 58.12 8/6
7 R 3 58.15 4/30
8 =R 2 63.96 4/17
9 FHEE 3 64.25 5/1
[ZZF] 100mH mnsL 18 1460
25l AEE 13. 90 Bi=# 14.25
K& $ | R R # e %
1 R EHF 1 | 14.15 | +1.7 9/20 PB
2 BUEF 4 | 14.18 | +1.1 5/3 PB
3 | BAs-2 | 1 | 14.22 8/28
a4 HEE 3 | 14.46 | +1.5 5/3
5 EMRE 2 | 14.71 | +1.3 9/3
6 AT 3 | 14.78 | +1.1 6/25
7 REER 4 | 14.87 | +1.1 10/1
8 BECOH 1 | 15.04 | +0.4 5/21
9 b L o d)) 4 | 15.31 | -0.1 5/21
10 | REHS 2 | 15.49 | +1.7 5/3
es K& BE | RR & #A iz
1 hEENF | 1 | 14.08 | +2.2 9. 20
2 HEE 3 | 14.49 | +2.6 5.8
3 BBCON 1 | 14.75 | +2.7 6. 11




[ %zF) 400MH m#L A= 1.03.30

ehL A=# 1.00. 00 Bi=# 1.01. 40
K& $4E | R B #iA =
1 AILLIE 3 |59.68 5/22
2 hEEHNF | 1 | 60. 22 9/3
3 FTESLH | 3 |61.64 8/28
a4 BRIUEF 4 |62.17 6/19 PB
5 Tl E TR 64. 71 4/3
6 =HIER 2 |65.24 6/19
[ZZF] 4X100mR mnLiE#E 5020
SHLIEE 4750
K& e B3R i
1 1B E-FI-AILlL-RHE 47.07 5/19 BEfC 1 i
2| RE-FES-EH-RE 47.40 9/2 BEfC 7 i1
3| RE-FES-EH-RE 48.14 9/19
4| EE-FIE-THE-hE 48.18 5/29
5| RE-BE-PE-RHE 48.26 8/6
6| AM-FIE-=#-HE 49.19 6/19
[ZzF] 4X400mR m#L =% 4.20.00
L =E£ 3.52.00
K& 28 #iIA =

1 2275 - ch3E - ALl - LU 3.42.19 9/4 BE(C 1 i1

2 FI-20- ALl -hE 3.43.24 9/3 BE{C 5 i1

3 FIS-PILL - LU - R 3.44.47 5/22 BE(C O i1

4 | FES-hE-RE-AL 3.45.49 9/21

5 | FES-AB-AL-RE 3.48.29 5/21

6 iR -thiE -2 - AL 3.58.28 9/20




[%F]

800m mBAL 188 AE#E 21650

eHL AEZ  2.11.00 BiE% 2.13.00
K& S | BB B @A T
1 N &BAE 3 2.04.86 5/29 | PB EEft 2 fi
2 M]::[F A 4 2.05.46 9/4 PB EEft 3 il
3 ALl 3 2.08.29 6/25 | PB EE{t 6 fii
4 BIRF 2 2.23.64 7/3
5 BEESF |2 2.32.89 5/1
6 KHTEET 3 2.36.95 5/22
[Z&F])] 1500m manL =% 4380
SHL AEE 4260 BiE#E 4310
K& S | R B #s e =
1 N 2B Ag 3 | 42171 9/2
2 M:[ETn 4 | 42887 9/19 PB
3 REEM 2 | 456.08 5/14
4 HEES 2 | 51426 6/19
[ZF] 3000m mAsL (5000m) =% 9.40.0
K& S | R B #s e T
1 N 2B Ag 3 | 10.17.90 6/19
2 RERW 2 | 10.50.88 5/29
[Z&F]5000m msL 16.55.0
2L AE% 16.05.0 B =% 16.20.0
K& eE e # e e
1| REEH 2 185995 | 9/21




[ZF] 5000mW
K& # | R # e %
B3 B 2 25'21“09 5/29
R RUF | 1 25'43“75 5/29
[ZF] 10000mMW masL 18 A#Ef 55°00“0
2L AE# 49°30* Bi=# 50 00
K& # | R B | EE
R ORUF | 1 49'22“58 | 9/18 PB
B3 B 2 59'49“81 9/18
[%F] EIEP manLEe 5m70
2L A i3 6m00 B {=# 5m95
K& spoE e [ # e i
1 FIEBNTE 3 5mo8 +0.9 5/19
2 BT 1 5m83 PN 9/20
3 KXot 2 5m80 0.8 5/19
4 BOE 2 5m79 1.8 11/6
5 WA 3 5m62 0.8 4/24
6 REER 4 5m54 $1.2 10/30 PB
7 ATI#TY 3 5m33 P 6/26
8 RBIIEF 2 4m93 $1.0 5/1 PB
9 1 1= 4m64 +0.4 9/21
es
1 FIESDTE 3 5m85 +2.4 6/12
2 EH T8 1 5m80 +2.3 5/29
3 BELE 2 5m69 +2.9 9/21




[ZF] =Rt mnLEse 11m60

2L A =% 12m35 B {Z# 12m20
K& spoF e [ # e %
1 WA 3 11m80 +0.9 5/1 PB
2 SETE 1 11m78 P 9/25 PB
3 HhEsE 3 10m95 +0.1 6/19
Es
1 MR EE 3 11m27 2.2 6/26
[ZF) EEM mEaLEe 1mes
2AL AESE 1m75 B 1m72
K& $E | BR # A %
1 W71 4 1m72 5/4 PB
BECON 1 1m72 9/3 PB
3 EEKE 2 1m66 9/3
4 HAhEs 3 1m65 3/28
5 AT 3 1m52 6/25
6 | BEESTF 2 1m45 4/30
7 RIIEF 2 1m40 4/2 PB
8 REER 4 1m35 11/5 PB
[ZF) S mrrEe 3moo0
2HL AE#E 3m70 B {E# 3m60
K& $E | RER # A %
1 i@ 4 3m70 3/30 PB
2 WK 2 3m50 8/6 PB
[ZF] AT msLms 4000
25 AEE 4600 Bl 4350
K& $E | B # A %




1 BIRF 2 26.76 5/21
TF PYIRIT maL  43.00
25l AES 5200 BEM 50.00
K2 $E | N8 #s e BE
1 EERS 2 48.02 9/20
2 BIRF 2 42.77 7/3
3 HkE 2 36.70 5/29
4 REER 4 32.46 11/6
5 KITET 3 32.43 6/26
6 BEESF 2 27.42 9/18
[ZrF Jeasmi&lT maL1a 12.00
2hL AE# 1380  BiE# 1320
K& S | B8 #e Bz
1 BEZOH 1 10.43 5/20 PB
2 EMABE 2 10.14 8/6 PB
3 BIRTF 2 9.74 7/2 PB
a4 KITET 3 9.61 6/25
5 ERT 1Y) a4 9.26 5/20
6 REEHR a4 8.83 11/5
7 SEREST 2 8.23 9/17 PB
8 REOE a4 6.73 11/5 PB
9 T]::[Een a4 6.00 11/5 PB
[ZF Yvoro—88F maLiEse 35.00
£HL AER 5200 B =3 4900
K& SeE 24 & Wzl BE




1 SRERF 2 19.58 6/19 PB
2 EH%E 2 19.35 6/19 PB
[ZF] CHEREE mn &= 4400
2hL AE#E 5000 BiE#E 4800
K& 3 Eo 7Bt #i e £

1 EEZ oD 1 5338 5.22 PB
2 EHZRE 2 5111 9.4

3 BIRT A Y 4 4821 5.22 PB
4 RYr#ETy 3 4482 6. 26

5 a)lIBEF 2 4217 4.3 PB
6 REHER 4 4043 11.6

7 EiBERT 2 3725 5.1




